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SM: X2
M HE2AH|(X2H)
&l D122 (CH9): &S
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
—S20jAlH 8,000 *142*202 2,240
O=AD| Lzt 5,232
—2{=AP 286, 0002 *1CH * 122 3,432
—SMEAD) 150,000 *1CH* 12 1,800
OB 55,0002 * 1CH* 122 660
02 2Z2AH| 28,639 28,639 0
oER= 150,0002!* 122 1,800
OpJ[SE=r=i=t= 9,960
Syl 9,960
HAL- HOIES 400,0008* 122 4,800
SAXS40 10,0002 * 122 120
zs22 20,0002 * 122 240
S XBEHSD 400, 0008+ 122 4,800
Ociz| 6,849
— AtRAl
1,30021%1.7 £ *BAI 2H+30H*100L 5,304
—=EAl 1,30021*4.95 £ +BAI2++302 1,545
Oxzs X el 9,450
— A (YR) 3,450,002 *1CH 3,450
—JESE(F2R) 1,500,0002 *1CH 1,500
— AT (AHE RIS
3,450,002 * 1CH 3,450
—BEH2(UE L LASHEHI0l S)
350,000 %3 1,050
OXSTHA 100
—3t2 40,0002 *1CH )
—ZEsE 60,0002 *1CH 60
oaxzea 40,0002 % 122 480
202 O1H| 40,600 40,600
01 2U0iH 40,600 40,600
Oz Ko 200,000 * 142 * 122 33,600
o220 50,0002 * 148+ 10 7,000
203 YR ETI| 10,560 10,560
01 J|2edAREAY| 7,000 7,000
OBE 7,000,000 7,000
02 HRAIIAARE A 560 560 0
OFAIMYRETIY| 40,0002 * 14 560
M EASHARE Y| 3,000 3,000 0
ORN2gREAY| 250,0002* 122 3,000




